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R03 |R04 [RO5 [RO6 [RO7

A01-007 L=0.2km "= 1,532 |1.4
A01-008 L=0.8km "= 600 (1.3
A01-009 L=0.8km L I B B BN 1,620 |1.5
A01-010 L=1.6km L I B B BN 3,514 (1.3
A01-011 L=3.3km L I B B BN 3,400 (1.2
A01-012 L=1.8km L I B B BN 1,633 1.2
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R03 |R04 [RO5 [RO6 [RO7

A01-013 L=1.6kn - 1,101

A01-014 L=1.2kn - 1,250

A01-015 L=1.9Km I 1,720]1.5
A01-016 L=0.13kn N 331

A01-017 L=3.88kn I 4,200]1.6
A01-018 L=1. 4k I 5,246 1.5
A01-019 [a [ ] | 934 | |
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R03 |R04 [RO5 [RO6 [RO7

A01-020 [a [ ] | 863 | |
A01-021 L=0.4k N I R 287
A01-022 L=0.3kn R I 106
A01-023 L=0.62kn N I R 400
A01-024 L=0.12kn R I 75
A01-025 L=0. 4k R I 110
A01-026 L=0.3kn N I R 90
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R03 |R04 [RO5 [RO6 [RO7

A01-027 L=0.2km | B B ] 57
A01-028 1 | B B ] 33
A01-029 L=120m | B B ] 300
A01-030 N= | B B 7
A01-031 [ n|n]n] 50 | |
A01-032 L=0.1km | | u 130
A01-033 ] | u u ] 140

0000546358




R03 |R04 [RO5 [RO6 [RO7

A01-034 101 N=1 LI B 422

A01-035 N=10 L I B B BN 1,080
N=1

A01-036 L=0.4km [ I B 71

A01-037 "= 812

A01-038 "= 1,021

A01-039 L=1.9km L I B B BN 328
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R03 |R04 [RO5 [RO6 [RO7

A01-040 L=0.1km n n [ 137
A01-041 L=0.31km n n n n 192
A01-042 L=35m n n 120
A01-043 n n [ 150
A01-044 L=2.25km n n 1,000 (1.5
A01-045 L=1.73km n n 2,940 (1.8
[T T 11 s ]
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R03 |R04 [RO5 [RO6 [RO7
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RO3 RO4 RO5
@) 1,602 1,188 986

) 0 0 0

(c=a+b) 1,602 1,188 986
() 0 0 650

e 466 538 0

) 1,136 650 1,636

0 0 0

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0 0
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